NAIR Assistant Electrical Engineer AEE

Topic:- AEE_PA_NAIR25FEB

1) Which parameter of power supply determines the synchronous speed of
induction motor?

TTAT FEATE FT FAAAT TR (2T ZE A HIET T HAEH w4 i Fear 2 7

[Question ID = 461][Question Description = Q01_AEE_PA_NAIR25FEB]
1. Voltage / o=

[Option ID = 1841]
2. Gurrent/ #7=

[Option ID = 1842]
3. Frequency / Hig=T

[Option ID = 1843]
Synchronous speed is not dependent on power supply parameter /

[Option ID = 1844]

Correct Answer :-
® Frequency / Tig=T

[Option ID = 1843]

2) s/ areinstrument transformer(s).
T TR & |

[Question ID = 462][Question Description = Q02_AEE_PA_NAIR25FEB]
1. Potential Transformer / TrEfsm= STHHHET

[Option ID = 1845]
2. Gurrent Transformer / 7%= ZaFE Y

[Option ID = 1846]
3. Potential & Current transformers ( TT2fre 57 572 ZrawTHT

[Option ID = 1847]
4. Power transformer / 978 ZHTH T

[Option ID = 1848]

Correct Answer :-

® Potential & Current transformers / TT=T51a 7 772 ZTAHHT

[Option ID = 1847]

3) In a star connected 3 phase system, the relation between line voltage &
phase voltage is given by -

T BAAET - W TIAT H ATET A1 6 ATeew AT H AT ——F |
[Question ID = 463][Question Description = Q03_AEE_PA_NAIR25FEB]

1. v (line) = V (phase) / V (712) = V 5)

[Option ID = 1849]
2. V(line) = 3%V (phase) / V (FTET) =3V (T

[Option ID = 1850]



3.V (line) =V (phase) / v3 / V (AEe) = V [#) 1 V3

[Option ID = 1851]
4. W (line) = V3TV {phase) / WV (&1eq) = V3T (7=

[Option ID = 1852]

Correct Answer :-

* V (line) =3 * V (phase) / V (@TE) =3 TV (F

[Option ID = 1852]

4) Tosave energy during braking, which type of braking is used?

AT 3 =TEATT S TATT & T (e FFT7 T AT T ITGT (g7 ATAT g 7
[Question ID = 464][Question Description = Q04_AEE_PA_NAIR25FEB]
1. Regenerative / Tromefea

[Option ID = 1853]
2. Hybrid / grzfe=
[Option ID = 1854]
3. Dynamic / STaaTiHF
[Option ID = 1855]
4. All given option are correct | 9T BT EEeT EET 2
[Option ID = 1856]

Correct Answer :-

® Regenerative / Taa =T

[Option ID = 1853]

5) If two 80 Q resistors are connected in parallel, then equivalent resistance
across parallel combination will be Q

FEET80 Q F IS 377 7 52 &7 A7 T Gl P9 FT ARG d 7 (o —
— Q7|

[Question ID = 465][Question Description = Q05_AEE_PA_NAIR25FEB]

1. 4D

[Option ID = 1857]
2. gp

[Option ID = 1858]
3. 160

[Option ID = 1859]
4. 120

[Option ID = 1860]

Correct Answer :-
® 40

[Option ID = 1857]

6) What iz the full form of BEE?
HETR =T HTE?

[Question ID = 466][Question Description = Q06_AEE_PA_NAIR25FEB]
1. Bureau of energy efficiency / =I7T JF e TIRTMHT

[Option ID = 1861]
2. Best electrical equipment /| 7= ATF25A THIAT



[Option ID = 1862] _
3. Bestenergy efficiency | 7%= T3] TIRTSTTHT

[Option ID = 1863]
4. Broad electric elevator / ATs Tlaes THE27

[Option ID = 1864]
Correct Answer :-
® Bureau of energy efficiency / =77 JW% TA1 TIRSTAT

[Option ID = 1861]

7) In atransformer, which is a gas operated relay?
TTARTHT | RIAAT (o 7 F AT EATE 7

[Question ID = 467][Question Description = Q07_AEE_PA_NAIR25FEB]

1. Buchholz relay | gFms fo71

[Option ID = 1865]
2.  Differential relay / F5%=Tsmaer oo

[Option ID = 1866]
3. Over current relay | J97 #7= T

[Option ID = 1867]
4. Restricted earth fault relay / Tz o wree

[Option ID = 1868]

Correct Answer :-

® Buchholz relay | TFm= oo

[Option ID = 1865]

8)  In domesfic wiring, pratection from electtic shocks is provided by
HA AT | (ST & SR H HEET ————— T W& Wl e g |

[Question ID = 468][Question Description = Q08_AEE_PA_NAIR25FEB]
1. OCB [awdrT

[Option ID = 1869]
2. RCCB /==#HyHTr

[Option ID = 1870]
3. ACB JETET

[Option ID = 1871]
4. None of the given option is correct/ =7 77 F%=7 5 S %12 947 721 £

[Option ID = 1872]

Correct Answer :-

® RCCB /== =rr

[Option ID = 1870]

9) With reference to electrical sub-station, what is the full form of ‘APFC™?
TATAEFA TS & Avad § AT U A7 A T F T #7E 7

[Question ID = 469][Question Description = Q09_AEE_PA_NAIR25FEB]

1. Automatic power fire controller | HTZTHTZF 719« HE7 F2 (A7

[Option ID = 1873]



2. Automatic power frequency controller / sTEraTes Tia= Higr FETAT

[Option ID = 1874]
3. Automnatic power factor controller [ SETHT=F 9187 FF=s Hz A7

[Option ID = 1875]
4. Mone of the given option is correct / & 77 [@F=T 7 5 %1% 721 787

[Option ID = 1876]

Correct Answer :-
e Automnatic power factor controller / sTETET=F Tia= FEET FE1AT

[Option ID = 1875]

10)  With reference to MCB & isolatar, which statement(s) are correct?

T =T AT AT ATEAAET F Avas H F AT (7) 79 A2 2 7

[Question ID = 470][Question Description = Q10_AEE_PA_NAIR25FEB]
MCB ison load device while isolator is off load device /

TH =T AT A7 A= T5ATEE T d1T ATEAET @I AT (2ATET £

[Option ID = 1877]
MCB provides protection against over load & short circuits /

TH HT T A= ATS 7S AT A AT A5 FT £

[Option ID = 1878]
Isolator does not provide any protection /

[Option ID = 1879]
All givery options are correct /

[Option ID = 1880]

Correct Answer :-

All givery options are correct /

[Option ID = 1880]

1) The primary winding of ————— transformer should riever be energized
when its secondary winding is open circuited.

- ZTAETHT #T SH=i] aTsiaT @9 ATAA gl A7 94T AIZAeT ATer=

FAEATES Ag] FeAl HIET |
[Question ID = 471][Question Description = Q11_AEE_PA_NAIR25FEB]
1. Potential / TTETERT

[Option ID = 1881]
2. Auxiliary | e

[Option ID = 1882]
3. Distribution / fEeegsr

[Option ID = 1883]
4. Current / F7=

[Option ID = 1884]

Correct Answer :-

® Current/F =



[Option ID = 1884]

12)  Who is the Electrical Inspector to Government of India for Zonal Railway?

[Question ID = 472][Question Description = Q12_AEE_PA_NAIR25FEB]
General Manager of Zonal Railway /

[Option ID = 1885]
Principal Chief Electrical Engineer of Zonal Railway /

2.
[Option ID = 1886] _
; Chief Administrative Officer (Construction) of Zonal Railway /

[Option ID = 1887]
Chief Electrical Service Engineer of Zonal Railway /

[Option ID = 1888]

Correct Answer :-
Principal Chief Electrical Engineer of Zonal Railway /

[Option ID = 1886]

13) A 25 liter capacity geyser of 1500 W rating is switched on for 2 hours daily
for 30 days. Then Electricity consumption will be units.

e 25 s aaar &1 A7 1500 F72 #1257 %7 107 779 2 5 5 [0 Al (57 707
T | AT i gf=z 2 |

[Question ID = 473][Question Description = Q13_AEE_PA_NAIR25FEB]
1. 150

[Option ID = 1889]
2. 120

[Option ID = 1890]
3. 45

[Option ID = 1891]
4. an

[Option ID = 1892]

Correct Answer :-

e 40

[Option ID = 1892]

14) A single phase full wave bridge rectifier requires -——— diodes.

e fe e e TR A TS 7

[Question ID = 474][Question Description = Q14_AEE_PA_NAIR25FEB]
1. 2

[Option ID = 1893]
2. 4

[Option ID = 1894]



3. B

[Option ID = 1895]
4. g

[Option ID = 1896]
Correct Answer :-
°* 4

[Option ID = 1894]

sUpply to supply.

15) Chopper converts

]

EIKES

- FATE F ———— TATE § T2 |
[Question ID = 475][Question Description = Q15_AEE_PA_NAIR25FEB]
1. AC, AC /7=, 76T

[Option ID = 1897]
2. AC, DG /T, ST

[Option ID = 1898]
3. DC, AC /<7, vt

[Option ID = 1899]
4. DC. DC/ =+, T4

[Option ID = 1900]

Correct Answer :-

* DC, DC /&, S

[Option ID = 1900]

16) Hitachi HS15250A type traction motor is used in which locemotive(s)?

Team=r = TH 15250 A FFTF FT ST Fi2r @] ITAT A AR HIEE AT
g7
[Question ID = 476][Question Description = Q16_AEE_PA_NAIR25FEB]
1. WAP -4 /3= 47— 4
[Option ID = 1901]
. WAG-T7/ssgmsii-7
[Option ID = 1902]
3. WAP -7 tz=pudi-7
[Option ID = 1903]
4 WAP _4&WAG T /s i —-4dw s =r-7
[Option ID = 1904]

Correct Answer :-

* WAP—_4&WAG-T7/smm i —-4sms= waAT-7

[Option ID = 1904]

17)  \What is the meaning of Go-Co bogie in electric locomotive?
TATHZE ATKIATIZE 5 T & G 5 7099 FAT 2 7
[Question ID = 477][Question Description = Q17_AEE_PA_NAIR25FEB]

2 axles per bogie and axles mechanically coupled and driven by ene motar /
1.

2 TEEATIT AT ST AR AT AE FT A S F A & A1e =9 2



[Option ID = 1905]
2 axles per bogie and axles independently ‘driven by individual motor /

R o e T |t e e o N Gt B o

[Option ID = 1906]
Jaxle per bogie and axle independently driven by individual motor /
3.
3 TFFAAT I AT T AT AT A2 ° 99T 2

[Option ID = 1907]
Mone of the given option is correct /
RS e e

[Option ID = 1908]

Correct Answer :-

3 axle per bogie and axle independently driven by individual motor /
]

3 RIS S T T ST FT H1E o 2

[Option ID = 1907]

18) |n locomative, sand is used ta avoid

ARTATICT § 55 F] 990 TET & AT E

[Question ID = 478][Question Description = Q18_AEE_PA_NAIR25FEB]
1. Wheel skidding / == ez
[Option ID = 1909]
2. Wheel slipping / =2 =TT
[Option ID = 1910]
3. Brake failure / 7% &7 TH=AT

[Option ID = 1911]
4. All given options are correct / fEm T o+ FFeT 59T 2

[Option ID = 1912]

Correct Answer :-

® Wheel slipping / =1+ =14

[Option ID = 1910]

19) In electric locomotive, pipe is connected with assistant loco pilot
(ALP) emergency brake valve (RS).

SATGZF AR AT 29 § AaTaF A% TH02 HeA 06| 4% 4709 (A7 79) F a97d —
5
—— T TR |

[Question ID = 479][Question Description = Q19_AEE_PA_NAIR25FEB]
1. Brake/#=F

[Option ID = 1913]
2. Feed /fr=

[Option ID = 1914]
3. Main reservoir [ 57 ==

[Option ID = 1915]
4. Equalizing reservoir | sTEETTAeT oagias

[Option ID = 1916]

Correct Answer :-
* Brake/TF

[Option ID = 1913]



HP is the Horse Power rating of conventional AC WAG-T type
locomotive.

Fea ST AT S5 1 W — [ ATRIRTTEA ST 30 8T 1127

s 51T 2 |
[Question ID = 480][Question Description = Q20_AEE_PA_NAIR25FEB]
1. 3000

[Option ID = 1917]
2. 5000

[Option ID = 1918]
3. /120

[Option ID = 1919]
4. 12000

[Option ID = 1920]

Correct Answer :-
® 5000

[Option ID = 1918]

21) Hew many traction motars are provided in 3 phase WAP-5 type locomotive?

IFFTE T AT - B ATERA 2T A TFAA] SFST W2 AT 27
[Question ID = 481][Question Description = Q21_AEE_PA_NAIR25FEB]
1. 2

[Option ID = 1921]
2. 4

[Option ID = 1922]
3. g

[Option ID = 1923]
4. 8

[Option ID = 1924]

Correct Answer :-

. 4

[Option ID = 1922]

22) & FRA 6068 type traction motor is used in which electric locomaotive(s)?

6 TF 37 7 6068 THEIT T FFSE 0= FT STATT F A T 9= AR IEE &

[Question ID = 482][Question Description = Q22_AEE_PA_NAIR25FEB]
1. WAP_4/==gmdr-4

[Option ID = 1925]
2. WAG-9/z= -9

[Option ID = 1926]
3. WAP-T/=sqmdi-7

[Option ID = 1927]
4 WAP-_T&WAG—8/=udfi-TsHiwssarsi—0

[Option ID = 1928]

Correct Answer :-

* WAP-T&WAG-8/zmmfi—7svsgm-9



[Option ID = 1928]

23)  From outside, what is the colour of 3 phase WAG-9 type locomotive?

3R O T AT — O T FT ATRIANET ATE7 o R T8 197 F 27
[Question ID = 483][Question Description = Q23_AEE_PA_NAIR25FEB]
1. Green /7T

[Option ID = 1929]
2. Blue /=T

[Option ID = 1930]
3. \White / 7

[Option ID = 1931]
4. Red /@@l

[Option ID = 1932]

Correct Answer :-
® Green/za

[Option ID = 1929]

24) 3 phase WAP-7 type locamotive. push buttan BPGS stand for
3% =g AT — 7 AHT F ATKIA e, AT 9T T U I AT w3 —
[Question ID = 484][Question Description = Q24_AEE_PA_NAIR25FEB]
Push button switch for cooling system /

[Option ID = 1933]
Push button switch for control system /

2.

T T2 (8T BT T (e

[Option ID = 1934]

Push button switch for constant speed control system /
3.

[Option ID = 1935]

FPush button switch for central system /
4.

IS T2 (o= HiT 92 HEE
[Option ID = 1936]

Correct Answer :-

Push button switch for constant speed control system /
]

[Option ID = 1935]

25) Which type of braking systern(s) are provided in 3 phase WAG-9 locomative?

3T ST VA — QATHRANET H FIAF THT AT ATHT T ATE 27
[Question ID = 485][Question Description = Q25_AEE_PA_NAIR25FEB]
1. Ajr e

[Option ID = 1937]
2. Dynamic / STAATHF

[Option ID = 1938]
3. Regenerative / fraa =



[Option ID = 1939]

4. Air & Regenerative | 7= &= frameieT
[Option ID = 1940]

Correct Answer :-

® Air & Regenerative | 7+ Hi7 fraeied

[Option ID = 1940]

26) With reference to traction link in 3-phase WAG-9 type locomotive, which
statement is correct?

3T T T AT — G ATHRAN ST T 7ea] # BIA9T F49 A5] 57

[Question ID = 486][Question Description = Q26_AEE_PA_NAIR25FEB]
Traction link transmits tractive force only /

1.

[Option ID = 1941]

Traction link transmits braking force only /
[Option ID = 1942]

Traction link transmits tractive & braking forces /
[Option ID = 1943]

Traction link is not for transmitting forces /
[Option ID = 1944]

Correct Answer :-

Traction ink transmits tractive & braking forces /
]

[Option ID = 1943]

27) In 3 phase WAP-T locomotive, for hotel load purpose, which switch is
provided on driver desk?

AFF AT A7 ARANCE J gled |15 F A4T87 & (AT 1297 508 77 D]

[Question ID = 487][Question Description = Q27_AEE_PA_NAIR25FEB]
1. BLHO /From n= &

[Option ID = 1945]
2. BLDJ/Frm ST

[Option ID = 1946]
3. BLFL /=77 e v

[Option ID = 1947]
4. BPCS/FrdreTa

[Option ID = 1948]

Correct Answer :-
® BLHO /drma = an

[Option ID = 1945]



28) In 3 phase WAG-9 locomotive, where is the location of harmonic filter
resistor?

s e

3HT 5L U AN — O ATRAINEE H, EAIAT (e (197 Tgl AT ¢

[Question ID = 488][Question Description = Q28_AEE_PA_NAIR25FEB]
1. HB1 panel / 7= =T 1 F9e1

[Option ID = 1949]
2. SB1 panel /T ET 1 T

[Option ID = 1950]
3. Loeo roof { ATHT BT

[Option ID = 1951]
4. Filter cubicle / fFee7 Fafaa

[Option ID = 1952]

Correct Answer :-

® | oco roof [ AT BT

[Option ID = 1951]

29) |n 3 phase WAG —9 /{ WAP — 7 lacomotive —— brake system is provided.
3FET I A9/ T T AT — T ATFIA 2 B ——— 5 U7 797 2|

[Question ID = 489][Question Description = Q29_AEE_PA_NAIR25FEB]
. E-T0

[Option ID = 1953]
2. CcCcB20

[Option ID = 1954]
3. E-TOORCCB20 /E—709TCCB20

[Option ID = 1955]
4. Mone of the given option is comrect | BT IT EF-T F T FE TR A2 2

[Option ID = 1956]

Correct Answer :-
* E-TOORCCB20 /E-T0=mCCB20D

[Option ID = 1955]

30) InWAG-12B Alstorn make locomotive, — type — no. begies are provided.

To] T AT — |27 S0 A AR HI2T 7 ——— THT F] ——— T AT 2|
[Question ID = 490][Question Description = Q30_AEE_PA_NAIR25FEB]
1. Bo-Bo, 4

[Option ID = 1957]
2. Bg-Bo. 2

[Option ID = 1958]
3. Co-Cag, 2

[Option ID = 1959]
4. CoCo 4

[Option ID = 1960]

Correct Answer :-
® BoBo 4

[Option ID = 1957]



31) How many traction motors are provided in a mofor coach of Electrical
Multiple Unit (EMU)?

—

ST T AR TH 1= (FTH ) F & AI2e 05 A (o0 SHH Aer gid 2 7

[Question ID = 491][Question Description = Q31_AEE_PA_NAIR25FEB]
1. 7

[Option ID = 1961]
2. g

[Option ID = 1962]
3. 4

[Option ID = 1963]
4. 8

[Option ID = 1964]
Correct Answer :-
* 4

[Option ID = 1963]

32) |n Siemens make Electrical Multiple Unit (EMU) rake, which coaches are
provided with air suspension?

T 5% F TATHEE A BeA T AT (STH) F F T F=T H T geaee AT 7

[Question ID = 492][Question Description = Q32_AEE_PA_NAIR25FEB]
1. All'A’ coaches [ 747 T w1 H

[Option ID = 1965]
2. All'B coaches /| ardT ==TH
[Option ID = 1966]
3. Al ‘C' coaches /=5 =" F=T &

[Option ID = 1967]
4. Allcoaches /& =18

[Option ID = 1968]

Correct Answer :-
® Allcoaches /=T F=7H

[Option ID = 1968]

33) On the basis of expertise in the field of train operation & driving technigue,
laco pilois are categorized in how many categories?

T AR U STEE9 A% F F AT H HedegT & ST A A TR FTAAET T
TRt AT T | A g AT AT e

[Question ID = 493][Question Description = Q33_AEE_PA_NAIR25FEB]
1. 2

[Option ID = 1969]
2. 3

[Option ID = 1970]
3. 4

[Option ID = 1971]
4. 5

[Option ID = 1972]

Correct Answer :-
* 4



[Option ID = 1971]

34) MNormally, how many loco pilots are alloted for each loco inspector / chief
leco inspector for monitoring purpose?

FTATAT: T AIRT o7 (55 (T AT (e (® @l (e Ie ] & o0 (e AT
[Question ID = 494][Question Description = Q34_AEE_PA_NAIR25FEB]
1. 10

[Option ID = 1973]
2. 15

[Option ID = 1974]
3. 90

[Option ID = 1975]
4. 25

[Option ID = 1976]
Correct Answer :-
¢ 25

[Option ID = 1976]

35) What is the periodicity of monitoring loco pilots having 'C’ category by
nominated loco inspector / chief loco inspector?

ATATIET FTaT AT | 7= AR o7 (A 2107 |0 900 J7e J1T T4 @0
[Question ID = 495][Question Description = Q35_AEE_PA_NAIR25FEB]
- 1 month / 1 57T

[Option ID = 1977]
2. 2 months / 2 wTg

[Option ID = 1978]
3. 3months/ 3ATET

[Option ID = 1979]
4. 15days/ 15 ==

[Option ID = 1980]

Correct Answer :-
® 1 month/ 1 FEAT

[Option ID = 1977]

hours is the fortnightly target for duty hours of loco pilot (Goods).

TF TEATE § AR T (A1) F =21 921 51 757 e |

[Question ID = 496][Question Description = Q36_AEE_PA_NAIR25FEB]
1. 100

[Option ID = 1981]
2. 104

[Option ID = 1982]
3. 80

[Option ID = 1983]
4. 120

[Option ID = 1984]



Correct Answer :-
® 104

[Option ID = 1982]

37) Whichrecords are maintained at locomotive crew booking point?
[Question ID = 497][Question Description = Q37_AEE_PA_NAIR25FEB]
1. Road leaming of crew / & %7 772 AT

[Option ID = 1985]
2. Accidents in division / F=9 % 9T

[Option ID = 1986]
3. Periodical rests of crew / & =T saia® (7R

[Option ID = 1987]
4. Road leaming & periodical rest of crew / F F7 77= ST A7 sma s 79

[Option ID = 1988]
Correct Answer :-
® Road learning & periodical rest of crew /| T 57 77= T A7 A 9F A7

[Option ID = 1988]

38) In OHE, normal cantilever assembly has which type of insulator(s)?

I TH T A, ATHIE HIZATA SAATAT H DBIAAT (7)) FFE FH gAAee gra £ 7
[Question ID = 498][Question Description = Q38_AEE_PA_NAIR25FEB]
1. Stayarm /= 31#H

[Option ID = 1989]
2. Bracket/@#=

[Option ID = 1990]
3. 9_Tonl=

[Option ID = 1991]
4. Stay arm & Bracket / = #F #7 #%=

[Option ID = 1992]
Correct Answer :-
® Stay arm & Bracket / = =TH 517 #5=

[Option ID = 1992]

39) The distance between two consecutive OHE masts is called

=T AT AT T AT F AR 5 A ——— T 2 |
[Question ID = 499][Question Description = Q39_AEE_PA_NAIR25FEB]
1. Span length [ =57 =5

[Option ID = 1993]
2. Suspension distance / FFEsT Te=a

[Option ID = 1994]
3. Clear span / Tmae =19

[Option ID = 1995]
4. Implantation | T==ATZ5T

[Option ID = 1996]

Correct Answer :-



® Span length [ =37 777

[Option ID = 1993]

40) In OHE, for termination of anti-creep wire on OHE mast ————- insulator
is used.
AT UH F H, A7 T7 UL T AT A TAAS FA § AT —————— e A

[Question ID = 500][Question Description = Q40_AEE_PA_NAIR25FEB]
1. 9Ton /9=

[Option ID = 1997]
2. Bracket/3F=

[Option ID = 1998]
3. Stayarm/= zH

[Option ID = 1999]
4. Any insulator can be used / Fi72 ST T+ &1 ITAW &7 G957 ©

[Option ID = 2000]

Correct Answer :-
® STon/9=7

[Option ID = 1997]

41) mplantation of OHE structure on platform should not be less than —— meter
TR T U= T TFET FT SEATSN ——— HiZE F 8 Ag] 2T AT |

[Question ID = 501][Question Description = Q41_AEE_PA_NAIR25FEB]
1. 25

[Option ID = 2001]
2. 28

[Option ID = 2002]
3. 30

[Option ID = 2003]
4. 475

[Option ID = 2004]

Correct Answer :-
® 475

[Option ID = 2004]

wire is used for extended termination of OHE.

ATH T F IFACSE T4 F (A0 —— T FT STIT T 2|
[Question ID = 502][Question Description = Q42_AEE_PA_NAIR25FEB]
1. Feeder /dr=7

[Option ID = 2005]
2. Contact/ ===z

[Option ID = 2006]
3. Catenary / F=9T

[Option ID = 2007]
4. Large span [ ATH =97

[Option ID = 2008]

Correct Answer :-



® Large span [ ATa =7

[Option ID = 2008]

43) In Traction Distribution, power block on secondary lines {yard line, sidings etc)
is granted by

FAT HTTTH, FHEET AT (ATE AT, ATE157 3.) T2 TG A F H ——— FHF
TETH F %’|

[Question ID = 503][Question Description = Q43_AEE_PA_NAIR25FEB]
- Traction Power Controller / 9 st o=+

[Option ID = 2009]
2. gection Controller / == Fgss

[Option ID = 2010]
3. Assistant Station Master / Yard Master | s S5/ 157 | 712 97527

[Option ID = 2011]
4. Mo sanction is required / T =TT &7 5999 720 &

[Option ID = 2012]

Correct Answer :-

® Assistant Station Master / Yard Master / g =7 7797 / AT AT=7

[Option ID = 2011]

44) In TRD & with reference to SCADA, Remate Terminal Unit (RTU) is provided
Al ———m—

T e & e e #, Fraits 20 e 3 AT AT E |

[Question ID = 504][Question Description = Q44_AEE_PA_NAIR25FEB]
1. 7SS /o

[Option ID = 2013]
2. gp/wadT

[Option ID = 2014]
3. 8SP /e TE AT

[Option ID = 2015]
4. All given options are correct / 77 T EFeT 957 E

[Option ID = 2016]

Correct Answer :-

® All given options are correct/ 7 Bw 17 EweT 721 2

[Option ID = 2016]

45) In 1X25 KV Traction Sub-station, feeding double line section, how many
feeder circuit breakers are provided?

i~

TAT ATET AT T TS HE T T 1X25 T T | TEAT His7 A5e

AFTEAE?
[Question ID = 505][Question Description = Q45_AEE_PA_NAIR25FEB]
1. 2

[Option ID = 2017]
2. 3

[Option ID = 2018]
3. 4

[Option ID = 2019]



4. None of the given option is correct / F2m 17 fages 5 &1 F12 7e1 Al 2
[Option ID = 2020]

Correct Answer :-
* 2
[Option ID = 2017]

46) |n Traction Distribution, combined earth resistance of 1X25 KV Traction Sub-
station (TSS) should not be mare than ————————- ().

FU A0 H, 1X25 FET Aagesiq 1 59759 A9 1A=
UL

O & =77 AET 2T

[Question ID = 506][Question Description = Q46_AEE_PA_NAIR25FEB]
1. None of the given option is correct/ =m e AT # 5 12 95 721 &

[Option ID = 2021]
2. 5

[Option ID = 2022]
3. 14

[Option ID = 2023]
4. D5

[Option ID = 2024]

Correct Answer :-
®* 05

[Option ID = 2024]

47) The rating of Auxiliary Transformer (AT) provided at SSP is -——————— KVA.
TR TE AT H AT A AT S S [ ST RTA © () T ——— T 2 |

[Question ID = 507][Question Description = Q47_AEE_PA_NAIR25FEB]
- 100

[Option ID = 2025]
2. B

[Option ID = 2026]
3. 25

[Option ID = 2027]
4. 10

[Option ID = 2028]

Correct Answer :-
® 10

[Option ID = 2028]

48) In Traction Distribution, for improvement of power factor, fixed / automatic
capacitor bank is provided at ————

FUT (4779 |, T/ hFes # AL F (A0, {6ees [ MTHicw Fa e 5% ——H
AT AT 2 |

[Question ID = 508][Question Description = Q48_AEE_PA_NAIR25FEB]
1. T8S/E&rma s

[Option ID = 2029]
2. P /mEdy

[Option ID = 2030]



3. 8SP/mHTE AT

[Option ID = 2031]
4. All given options are correct / 7+ FEm e EFeT 921 &

[Option ID = 2032]

Correct Answer :-
* T3S /EFTmaTH

[Option ID = 2029]

49) |In OHE, why contact wire is placed in zigzag manner in entire span length?

W= TH, T2 790 3l AGFa1% A 1292 197 FT 0] — AT T4 F FAT A4 A6T 8
7

[Question ID = 509][Question Description = Q49_AEE_PA_NAIR25FEB]
To avoid formation of groove on pantograph pan /

[Option ID = 2033]

) To avoid breakdown due to formation of groove on pantograph pan /

FETATE o T T2 FF T F F10F AFSTIT 7 1H & AT
[Option ID = 2034]
To ensure uniform rubbing of pantograph carbon strip /

FETATT & FTAT 02T FTATRH TG578 T 15T e & (o0

[Option ID = 2035]
All given options are correct /

[Option ID = 2036]

Correct Answer :-
All given options are correct /

[Option ID = 2036]

50) In Traction Distribution, return current does not flow through
FT FEATH, ———— F T T2 w0 |

[Question ID = 510][Question Description = Q50_AEE_PA_NAIR25FEB]
1. Structure bond | =F=7 317=

[Option ID = 2037]

2. Railbond /¥ =

[Option ID = 2038]
3. Cross bond /FIT T

[Option ID = 2039]

4. Zbond fET s
[Option ID = 2040]

Correct Answer :-

® Structure bond / =Fa7 T0=

[Option ID = 2037]



51)  For energy conservation, railway station platform lighting is segregated in —
— % & % lighting circuits.

%

IO AT (0 9 ST ST o AaETe AT i —— % T
w75 AEE A AT - AT FHATE |

[Question ID = 511][Question Description = Q51_AEE_PA_NAIR25FEB]
1. 30,70

[Option ID = 2041]
2. 50,50

[Option ID = 2042]
3..10, 90

[Option ID = 2043]
4. 20,80

[Option ID = 2044]

Correct Answer :-
e 30,70

[Option ID = 2041]

52) With reference to coaches in Indian Railways. what is the full form of LHB?

AT oG F R FH A A T TF A w T =T FETE 7
[Question ID = 512][Question Description = Q52_AEE_PA_NAIR25FEB]
1. Lower heavy bogie / =T E47 97777

[Option ID = 2045]
2. Linke Hofrann Busch | 7 gream= 7=

[Option ID = 2046]
3. Lew height bogie [ 7T 2132 I

[Option ID = 2047]
4. None of the given option is correct | =17 fFewT 7 & F1 72T 721 £

[Option ID = 2048]

Correct Answer :-

® Linke Hofmann Busch / = greem= 375

[Option ID = 2046]

53) Which supply is fed to LHB coaches?

T T AT FHTH HIAA] AATE 5 A £ 7

[Question ID = 513][Question Description = Q53_AEE_PA_NAIR25FEB]
1. None of the given option is correct / T a1 fEseT 9 7 #1% Ag7 el £

[Option ID = 2049]
2. 3phase, 415 Volt ! 3%, 4159

[Option ID = 2050]
3. 3 phase, 750 Volt ! 3%, 750 972

[Option ID = 2051]
4. 3 phase, 1500 Volt 1 3%, 1500 g1

[Option ID = 2052]

Correct Answer :-

¢ 3phase, 750 Volt { 3%, 750 9172

[Option ID = 2051]



54) With reference to AC coaches, what is the full form of WRA?
THT HTET F TR W S A T A T ET T 7

[Question ID = 514][Question Description = Q54_AEE_PA_NAIR25FEB]
1. \Wired relay appliance / a19= &= m=imasr

[Option ID = 2053]
2. \Water raising apparatus / ST T ST

[Option ID = 2054]
3. Water raising appliance / aTev # F97 eI

[Option ID = 2055]
4. Water reading arrangement / 9127 FTTET 3 aAs

[Option ID = 2056]

Correct Answer :-

® Water raising apparatus / @TE7 119 SeES

[Option ID = 2054]

55) Ampere Hour {AH) is the capacity of battery used in LHB type AC
coach.

[Question ID = 515][Question Description = Q55_AEE_PA_NAIR25FEB]
1. 1100
[Option ID = 2057]
2. 320
[Option ID = 2058]
3. 120

[Option ID = 2059]
4. 70

[Option ID = 2060]

Correct Answer :-
* 70

[Option ID = 2060]

56) If aliernator of self-generating type AC coach is not generating voltage. the
reason(s) could be ——

FT T A € |
[Question ID = 516][Question Description = Q56_AEE_PA_NAIR25FEB]
1. Field of alternator may be open / s==rr=7 &1 ®l=% AT 27 9577 &

[Option ID = 2061]
2. Fuse in the regulator had blown / 33[F== FT = =T 2T TIT 27

[Option ID = 2062]
3. AllV belts had dropped / 71 7 Z=z e 27

[Option ID = 2063]
4. All given options are correct / &1 f2m T faww /51 5

[Option ID = 2064]

Correct Answer :-

® Allgiven options are correct / i1 R m w75 &



[Option ID = 2064]

Kilo Watt is the rating of alternator in self-generating type RMPU AC
coach.

G TR R e e e e e e 0 s R A e R B i frTEr |

[Question ID = 517][Question Description = Q57_AEE_PA_NAIR25FEB]
1. 5

[Option ID = 2065]
2. 95

[Option ID = 2066]
3. 25

[Option ID = 2067]
4. 45

[Option ID = 2068]

Correct Answer :-
& 25

[Option ID = 2067]

58) In coaches, for detection of which fault, double test lamp method is used?
T H FIAAT FI0E T2 & (7 59 292 4T 79% F7 I F09 27

[Question ID = 518][Question Description = Q58_AEE_PA_NAIR25FEB]
1. Short circuit { M= FTF=

[Option ID = 2069]
2. Earth leakage / 19 ==
[Option ID = 2070]
3. Open circuit / T A=

[Option ID = 2071]
4. None of the given option is correct | f&m 7 e & 5 912 927 721

Al

[Option ID = 2072]
Correct Answer :-
® Earth leakage / 19 #iFw

[Option ID = 2070]

\ belts are provided in alternator pulley in ICF make self- generating
type non - AC coach?

HET T T HF F g0 A ST THE F Aid — TH #E # ——— AT GeE 210 |
[Question ID = 519][Question Description = Q59_AEE_PA_NAIR25FEB]
1. 8

[Option ID = 2073]
2, g

[Option ID = 2074]
3. 4

[Option ID = 2075]
4.

[Option ID = 2076]

Correct Answer :-



[Option ID = 2075]

60) Interlocking control panel for Hotel Load Generation (HOG) operation in
LHB rake is located in

T WA AT 9% A g2 AT WA S o SATAT o AT AT 53 2EE e (4T de ——
-H AW AT 2|
[Question ID = 520][Question Description = Q60_AEE_PA_NAIR25FEB]

1. Powercar / 9797 &1+

[Option ID = 2077]
2. Pantry car / FET #1%

[Option ID = 2078]
3. Locomotive | FrETETIES

[Option ID = 2079]
4. Any AC coach / =T 7=T F7=

[Option ID = 2080]

Correct Answer :-

® Power car / TET F17

[Option ID = 2077]

61) What are the advantages of RMPU type AC coach?
e 1E o7 o TR TET F 0 AT WS ?

[Question ID = 521][Question Description = Q61_AEE_PA_NAIR25FEB]
Less weight /

FHEAHT

[Option ID = 2081]
Hermitically sealed compressor & hence no refrigerant leakage /

2.
FEER I o B N B T o e et R e e St R e R 1
[Option ID = 2082]

3 Less maintenance & reliable /

[Option ID = 2083]
All given options are correct /

[Option ID = 2084]

Correct Answer :-
All given options are correct /

[Option ID = 2084]

62) s provided in ICF make RMPU type AC coach to ensure that
compressor or heater operates only when air flow is present across the
cooling coils and heating elements

arr T A W e of 7 v F vl s A Rt Sy v
BT AT AT TR ST T R AT AT $re A A i e ¥ o —
ERIPIRPIE

[Question ID = 522][Question Description = Q62_AEE_PA_NAIR25FEB]



1. Qverload relay / == #7= 57

[Option ID = 2085]
Internal over load relay / Fzv== @E7 @iz v

N

[Option ID = 2086]
3. Vane relay / &7 fror

[Option ID = 2087]

4. None of the given option is correct / T 7w faseg ® T 712 8721 £
[Option ID = 2088]

Correct Answer :-

® Vanerelay /a7

[Option ID = 2087]

63) The permitted variation of load sharing between the 2 alternators with RRU
of ICF make self-generating type AC coach is Ampere.

AT AT T T F T WA A & TR R F AT W AET 2 T
A e St # s A7 9 o —— e g

[Question ID = 523][Question Description = Q63_AEE_PA_NAIR25FEB]

1. an

[Option ID = 2089]
2. B0

[Option ID = 2090]
3. None of the given aption is correct ! T e s & T 98T 721 2

[Option ID = 2091]
4. 50

[Option ID = 2092]
Correct Answer :-
a0

[Option ID = 2089]

64)  On Indian Railways pre-cooling of AC coaches is required to be done

HTTAE 7Ad A THT HAT AT AT — FieT

FEAT AT 5 |

[Question ID = 524][Question Description = Q64_AEE_PA_NAIR25FEB]
Before start of journey from primary depot station only /
FAA ATEACT 29T 22917 5 4737 S[F 219 7 TgeT

[Option ID = 2093]
Before start of journey from secondary depot station only /

Fae AE=4] (21 =T F ATAT 4F g A T2

[Option ID = 2094]

Befare start of journey from primary as well as secandary depaot stations /
ATEH [ AT e [ 29[ #==eM]1 | qTA7 5= g 7 95+

[Option ID = 2095]

Only on the demand of passengers /

[Option ID = 2096]

Correct Answer :-



Before start of journey from primary as well as secondary depot stations /
TTEHT 47 e 27 S2emT 5 77 5= 31 9 TEe

[Option ID = 2095]

65) Rupees ———— lakhs per case is the financial imit of JA grade officer in
case of works matter under guotation as per Model SOPGEN 2018 (duly
updated)?

A1Ea arran 2018 (=g =0y & 914) F de 97 74 & A6 5 0F T
FTZHT & (AT HI0Z TS F TS FTSHIEN Gf A0 019 5 AT =90 ——— AT 2 |

[Question ID = 525][Question Description = Q65_AEE_PA_NAIR25FEB]
1. 10

[Option ID = 2097]
2. 8

[Option ID = 2098]
3. §

[Option ID = 2099]
4. 2

[Option ID = 2100]
Correct Answer :-
A

[Option ID = 2099]

66) For execution of work on guetation basis (by dispensing with open tender)
minimum —— offers should be collected.

FTZEI 5 AT T7 (AT =T T AT Fo ) F74 et & ooy ——
FEATE AT 21 AR |

[Question ID = 526][Question Description = Q66_AEE_PA_NAIR25FEB]
1. 2

[Option ID = 2101]
2. 3

[Option ID = 2102]
3. a4

[Option ID = 2103]
4. 5

[Option ID = 2104]

Correct Answer :-
¢ 3

[Option ID = 2102]

67) The need for local purchase at the depot level arises due to
Tt =ea7 7 =T =@ S AT AT FAEETE |

[Question ID = 527][Question Description = Q67_AEE_PA_NAIR25FEB]
Emergency /

EIRIGESEN

[Option ID = 2105]
If tern 1s of small value which has not been stocked /



[Option ID = 2106]
If supplies are not received against the Head Quarter level purchase order /

IATE AEATAT 0% & H A5 6T AL T Ael gl g

[Option ID = 2107]
All given options are correct /

[Option ID = 2108]

Correct Answer :-
All given options are correct

[Option ID = 2108]

68) For the purpose of inventory control, which category items are monitored
most at highest level?

TSt | AT & AT & (AT (e S0 6] A=Al ST T AL FAq ATHF

T T T E 7
[Question ID = 528][Question Description = Q68_AEE_PA_NAIR25FEB]
1. AT

[Option ID = 2109]
2. BiET

[Option ID = 2110]
3. ClEr

[Option ID = 2111]
4. None of the given option is correct /| Fmm Gesr S A Fz 92T A2l &
[Option ID = 2112]

Correct Answer :-

o AW

[Option ID = 2109]

69) The new werk for direct metering of railway quarters is sanctioned at
Railway Board level under appropriate plan head. Now which estimate will
be prepared for vetting?

AT AATAT §] ST HI=ZTT & 294 =0 g5 | A4 A7% 797 97 947 w14

[Question ID = 529][Question Description = Q69_AEE_PA_NAIR25FEB]

1. Abstract estimate | Jfseimz Tz

[Option ID = 2113]
2. Detailed estimate | =27 =Rz

[Option ID = 2114]
3. Revised estimate | FraTg=s 7eia=

[Option ID = 2115]
4. Nore of the given option is correct / 51 7 T&%=7 7 7 %1% T2 941 &

Ay

[Option ID = 2116]

Correct Answer :-

® Detailed estimate | Tz =15z

[Option ID = 2114]



70)  Whatis the full form of EMD?
TTHE E TN ET TR

[Question ID = 530][Question Description = Q70_AEE_PA_NAIR25FEB]
1. Essential matter description / ZE s f=+ ETem=

[Option ID = 2117]
2. Early money deposit / 3T JRT F2ITeE

[Option ID = 2118]
3. Earnest money deposit [ = w47 fEaTiiE

[Option ID = 2119]
4. Extra material depat | me=T 9=fr= BT

[Option ID = 2120]

Correct Answer :-

® Eamest money deposit /| = AT IEATTHE

[Option ID = 2119]

71) With a view to promoting the official language, India has been classified
inta Row many regions?

TSI A7 - WA 50 587 797 =51 & (T 937 § g9 0% 547 472 ?

[Question ID = 531][Question Description = Q71_AEE_PA_NAIR25FEB]

1. 2

[Option ID = 2121]
2. 3

[Option ID = 2122]
3. 4

[Option ID = 2123]
4. §

[Option ID = 2124]

Correct Answer :-
¢ 3

[Option ID = 2122]

72) \Who is the Chairman of the parliamentary official langlage commitiee?
[Question ID = 532][Question Description = Q72_AEE_PA_NAIR25FEB]
1. Minister of Finance / =57 ==t

[Option ID = 2125]
2. Minister of Railways / #7177 537

[Option ID = 2126]
3. Minister of Home Affalrs | F719 78 53T

[Option ID = 2127]
4. Minister of Agriculture / F=5F &1 w47

[Option ID = 2128]

Correct Answer :-
® Minister of Home Affalrs / F779 7z 547

[Option ID = 2127]



73) Who is the Chairman of Railway Hindi advisory committee?
T R A E AT S w2

[Question ID = 533][Question Description = Q73_AEE_PA_NAIR25FEB]
Chairman & Chief Executive Officer, Rallway Board /

[Option ID = 2129]
Financial Commussianer /

[Option ID = 2130]
Director General (Human Resource) /

AETH=eTF (FTT FE7a)

[Option ID = 2131]
Minister of Railways /

[Option ID = 2132]

Correct Answer :-
Minister of Railways /

[Option ID = 2132]

74)  \Which of the following document(s) are included under Section 3(3) of
Official Langlage Act 19637

T 5 F 0997 (F) T Ty S eaE 1963 #7 AT 3(3) F AT
sTiET 2 7

[Question ID = 534][Question Description = Q74_AEE_PA_NAIR25FEB]
1. Tenders / FT==mT

[Option ID = 2133]
2. Confracis | #717

[Option ID = 2134]
3. Licenses / AT=9T

[Option ID = 2135]
4. All given options are correct / 74T Er T TEeT 7R 2

[Option ID = 2136]

Correct Answer :-

® All given options are correct /74T Em s EEeT A5 B

[Option ID = 2136]

75) Who is responsible for implementation of Section 3(3) of Official Language
Act 18637

TETET #E IR 1963 T 4T 3(3) F AT w4 (HEER A T g 7

[Question ID = 535][Question Description = Q75_AEE_PA_NAIR25FEB]
1. Administrative head of office / 1T+ & TSTET=E T HT

[Option ID = 2137]
2. Official language officer / TTsrSTaT FTIFTAT T

[Option ID = 2138]



3. Officerwho signs such documenis | 79 Tea79=7 T¢ 27a T Fed aTo SITSHT 1 AT

[Option ID = 2139]
4. Concemed clerk / F=gTa a® &7

[Option ID = 2140]
Correct Answer :-

e Officerwho signs such documents | TH TFaTas1 97 Zea T Fod AT TSR 1 AT

[Option ID = 2139]

76) In the offices of Government of India, in which language the rubber stamp
used be?

ST ST HTATIAT # ST R S AT v S e ST # 2 SR ?

[Question ID = 536][Question Description = Q76_AEE_PA_NAIR25FEB]
In Hindi only /

e A

[Option ID = 2141]
In English only /

Fae AT H

[Option ID = 2142]

In Hindi & English (Hindi at the top or first) /
Fr e srefr 1 (BT e A )

[Option ID = 2143]

In Hindi & English (English at the top or first) /
TERT 81T Sty | (FAsT 797 47 98 T)

[Option ID = 2144]

Correct Answer :-
In Hindi & English (Hindi at the top or first) /

Rt sire srsf  (Fdf e am )

[Option ID = 2143]

77) Fer the office of Divisional Railway Manager who is the chairman for official
language implementation committee?

HEA oA TASF BT h] AT FATewAT A F AHHA A gl g 7
[Question ID = 537][Question Description = Q77_AEE_PA_NAIR25FEB]

1. Divisional Railway Manager /| #54 7 T39%

[Option ID = 2145]
2. General Manager / FgTaTgF

[Option ID = 2146]
3. Senior Divisional Personnel Officer / 97vg 5=+ w1167 #fusr T

[Option ID = 2147]
4. Additional Chief Official Language officer / 7 s TTorTaT SIFa=Tey

[Option ID = 2148]
Correct Answer :-

® Diwisional Railway Manager / #57 o 7395

[Option ID = 2145]



78) Under which section of Official Language Act 1963, preparation / jssue /
publication of decided documents is mandatory?

TrrsTaT At TEEE 1963 F7 e arer F e eiiem & mr w=mmaer o 2
A7 AT AT AT A AAE =9 A9 W e A war g ?

[Question ID = 538][Question Description = Q78_AEE_PA_NAIR25FEB]
1. Section3(1) /=77 3(1)

[Option ID = 2149]
2. Section 3(2) / 9197 3(2)

[Option ID = 2150]
3. Section 3(3) / g77T 3(3])

[Option ID = 2151]
4. Section 4 | 91714

[Option ID = 2152]

Correct Answer :-
e Sechion 3(3) / gmT 3(3)

[Option ID = 2151]

79)  The extension of Official Language Rules 19786 is not applicable on which
state on India?

TIETATHT A 1976 F1 e O S F FE T AT AR £ 7
[Question ID = 539][Question Description = Q79_AEE_PA_NAIR25FEB]
1. Arunachal Pradesh / s/#=ar== 7257

[Option ID = 2153]
2. Tamil Nadu / &=

[Option ID = 2154]
3. Goa/¥mET

[Option ID = 2155]
4. Mone of the given option is correct | & 1 fJwe41 7 7 F1% 727 72!

[Option ID = 2156]

Correct Answer :-

¢ Tamil Nadu / &=

[Option ID = 2154]

80)  With a view to prornoting the official language, the state of Maharashtra is
classified into which region?

TSI ] AT — WAT ] T5) AT 7T H A8 AT H 79159 H47Z ?
[Question ID = 540][Question Description = Q80_AEE_PA_NAIR25FEB]
1. 'Ka' region / ‘& &=
[Option ID = 2157]
2. Kh' region / =" &=
[Option ID = 2158]
3. 'Ga'region / T @A

[Option ID = 2159]
4. None of the given option is correct / T2 s faseaT 7 & %12 987 727

[Option ID = 2160]



Correct Answer :-
® Kh'region/ = &=

[Option ID = 2158]

Topic:- AEE_PB_NAIR25FEB

1) New pit wheel lathe machine is required for locomotive shed / workshop. In
which program, it will be proposed?

ATFHITET 9T | FEET & o 97 T2 = 77 7g9i= &7 J907 2 | 70 &=
T ¥ YT T ST ?

[Question ID = 541][Question Description = Q01_AEE_PB_NAIR25FEB]

i. Rolling Stock Program (RSP) / 7rt=mr == T e

[Option ID = 2161]

2. Machinery & Plant program / F<fi=+T & == smame

[Option ID = 2162]
3+ Procured through revenue / 7T+ & AT&AH

[Option ID = 2163]
4. None of the given option is correct / R GFer g T a2t 73T 2
[Option ID = 2164]

Correct Answer :-

« Machinery & Plant program / #7sfi=+1 & == o=

[Option ID = 2162]

2) Tender system adopted for inviting offers in most transparent manner
possible is known as —-—--—-—-.

TATH T TATEF TR T T TEATT AT F0H 5 (o7 A9=7E T2 H1=3T7
AT Z|

[Question ID = 542][Question Description = Q02_AEE_PB_NAIR25FEB]

- Open tender / =t Ha=T

[Option ID = 2165]

2. Limited tender / #ifas Afa=T

[Option ID = 2166]

3. Special limited tender / Bromr =it F/fE=T

[Option ID = 2167]

4. None of the given option is correct / R Erer A T T AT 921 2

[Option ID = 2168]

Correct Answer :-
* Open tender / =T =T

[Option ID = 2165]



3) The contract in which Government can procure any no of specified items at

fixed unit rate during the peried of currency of contract is called --

0T agFg § w9 Ai=ET # darE F AT Wi 2w 37 0 AT o [iE

[Question ID = 543][Question Description = Q03_AEE_PB_NAIR25FEB]
- Lump sum contract / s HEET

[Option ID = 2169]

2. One delivery contract / = =T #t=aT

[Option ID = 2170]

3. Labor contract / s =tE=ET

[Option ID = 2171]

4. Rate contract / == #fa=T
[Option ID = 2172]

Correct Answer :-

* Rate contract / == @f3=T

[Option ID = 2172]

4 What is the full form of ‘LOA’ in matters related to tenders & contracts?

R R B 1 e e e e Bt B i T e e
[Question ID = 544][Question Description = Q04_AEE_PB_NAIR25FEB]

- Letter of Approval / #=TET T

[Option ID = 2173]
2. Line of Action / F1vamE #7 =T
[Option ID = 2174]

3. List of Annexure / AeaF #T AT
[Option ID = 2175]

4. Letter of Acceptance / =g 7=
[Option ID = 2176]

Correct Answer :-

* Letter of Acceptance / =iga T

[Option ID = 2176]

Generally, in Indian Railways, which authority is assigned the task of
publishing tender notice in newspaper?

ATHT=AT, AT T F FH=E T | Wtasr &7 Gy 57 77 77 &

[Question ID = 545][Question Description = Q05_AEE_PB_NAIR25FEB]



N

. Chief Personnel Officer / 7= FTia® ara=mT
[Option ID = 2177]
2. Chief Account officer / =7 =T et

[Option ID = 2178]

- Chief Public Relation Officer / §=7 s==T= At

w

[Option ID = 2179]
Head of department (HOD) of concerned department / ww=atam framr & 7

[Option ID = 2180]

>

Correct Answer :-

* Chief Public Relation Officer / T=1 S=a T At

[Option ID = 2179]

6)

Normally period of advertisement for open tender is -

ATAT: geft AT F T e ety =T
[Question ID = 546][Question Description = Q06_AEE_PB_NAIR25FEB]
1. 30

[Option ID = 2181]

2. 15

[Option ID = 2182]

.2

[Option ID = 2183]

4. 45
[Option ID = 2184]

Correct Answer :-
21

[Option ID = 2183]

7) What is the full form of GFR?

ST T AT FT T w2

[Question ID = 547][Question Description = Q07_AEE_PB_NAIR25FEB]
1. Government Financial Rules / T9H= ®eA 18 #oe0

[Option ID = 2185]
2. General Financial Rules / s9+& ®rEATaT o8

[Option ID = 2186]

3. Government Financial Regulations / A==z WA= o9
[Option ID = 2187]

4 General Financial Regulations / S/ FT2aEF T7e1o
[Option ID = 2188]

Correct Answer :-



* General Financial Rules / 597+ T8I %o

[Option ID = 2186]

8) For the purpose of inventory control, all stock items are classified in ——
categories.

oo

FAASA T AT F 259 9§ =% HEEA H -

ATET 7 T AT AT |

[Question ID = 548][Question Description = Q08_AEE_PB_NAIR25FEB]
1. 3

[Option ID = 2189]
2. 2
[Option ID = 2190]
3. 4
[Option ID = 2191]
4. Nosuch classification is done | 75T FT2 S5 721 (597 T4 2
[Option ID = 2192]
Correct Answer :-
® 3

[Option ID = 2189]

9) With reference to tenders & contracts, what is the full form of PVG'?

ol

BRI B Db e ek e A i i R e L R

[Question ID = 549][Question Description = Q09_AEE_PB_NAIR25FEB]
1. Price variation clause / TT7 TS FATH

[Option ID = 2193]
2. Policy variation clause / TTf=fT a7

[Option ID = 2194]
3. Price validation clause /| WiZ=r o9 #47

[Option ID = 2195]
4. None of the given option is correct/ Em T EseT § S 912 921 Azl &

[Option ID = 2196]

Correct Answer :-

® Price variation clause [ 975 IS FATH

[Option ID = 2193]

10)  \Who is the convener of the tender committes in stores purchase coritract?

[Question ID = 550][Question Description = Q10_AEE_PB_NAIR25FEB]
1. Officer from technical department / TS T 79T FT ATLHTT

[Option ID = 2197]
2. Officer from stores department | SIST% 217 F7 AT8H9T

[Option ID = 2198]
3. Officer from Accounts department / =T =T Fr sfa=TT

[Option ID = 2199]
4. Officer can be from any depariment / =T T fasmer &1 s

[Option ID = 2200]



Correct Answer :-

® Officer from stores department / =77 T2 7 wfasrT

[Option ID = 2198]

1) With reference to classification of capital & other expenditure “Cther Electrical
Waorks including TRD waorks" are sanctioned under which plan head?

F9ZA T G0 AT F AGIT F A= A IS 99 § A7T WaT eA9ea
T A A T A AT ga g 7

[Question ID = 551][Question Description = Q11_AEE_PB_NAIR25FEB]
1.

[Option ID = 2201]
2. 35

[Option ID = 2202]
3. 41

[Option ID = 2203]
4. 42

[Option ID = 2204]

Correct Answer :-

® 36

[Option ID = 2202]

12) with reference to classification of expenditure, the source of financing can
be

AT F AE 0 & A= § RIEA (4 R S ———— o A7 E |

[Question ID = 552][Question Description = Q12_AEE_PB_NAIR25FEB]
1. Capital | F7a=

[Option ID = 2205]
2. DRF /(ST a=mE

[Option ID = 2206]
3. DF/&tm

[Option ID = 2207] _
4. All given options are correct / 47 = HEET EET 2

[Option ID = 2208]

Correct Answer :-
® All given options are correct / T3 BT EEeT AR E
[Option ID = 2208]

13) With reference to revenue expenditure what is the primary unit {PU) for cost
of matenal from stock (for purchase of stock items)?

T A F SEE § AeRe H e=iE & ATHAT A1 & 0T (R aee &
HETEA & TAT) AT ATEAA A 7

[Question ID = 553][Question Description = Q13_AEE_PB_NAIR25FEB]
1. 27

[Option ID = 2209]
2. 28

[Option ID = 2210]
3. 32



[Option ID = 2211]
4. 33

[Option ID = 2212]
Correct Answer :-
Rl 7 4

[Option ID = 2209]

14) With reference to revenue expenditure what is the primary unit (PU) for
coniractual payments?

T A F T FT T AeES H A AR E AT F AT R AT TR (AT g 7
[Question ID = 554][Question Description = Q14_AEE_PB_NAIR25FEB]
1. 27

[Option ID = 2213]
2. og

[Option ID = 2214]
3. 32

[Option ID = 2215]
4. 33

[Option ID = 2216]

Correct Answer :-
e 32

[Option ID = 2215]

15)  Which of the following services can be availed from GeM?
GeM T refafes 7 7 e 997 31 77 T30 T 51 9597 27
[Question ID = 555][Question Description = Q15_AEE_PB_NAIR25FEB]

1. Security manpower / 5747 A79187

[Option ID = 2217]
2. Vehicle hiring { 3727 T 14 T FAT

[Option ID = 2218]
3. Human resource | 5TAF FATIT

[Option ID = 2219]
4. All given options are correct / 57 &7 1r E977 927 &

[Option ID = 2220]

Correct Answer :-
® Allgiven options are carrect / 57 &7 1r E9e7 927 2

[Option ID = 2220]

16) In the shart form 'PNM' related with staff matters, '’ stands for

=T ATRAT F AT S T O e w5, T R A ——— 3 |
[Question ID = 556][Question Description = Q16_AEE_PB_NAIR25FEB]
1. Manual / #=gs

[Option ID = 2221]
2. Machinery ! Fsf=+T

[Option ID = 2222]
3. Management / &=



[Option ID = 2223]
4. Model / 7=+

[Option ID = 2224]
Correct Answer :-

® Machinery / Fsfa+T

[Option ID = 2222]

17) Modified Assured Career Progression Scheme (MACPS) is to grant
financial up-gradation at the intervals of —— years.

FIMTET qATarT Fas T JreaT (T T &7 497 79 ) ~—— a7 & JaG77+ 97
[ERIPEE LR EE i e e L

[Question ID = 557][Question Description = Q17_AEE_PB_NAIR25FEB]
1. 10

[Option ID = 2225]
2. 20

[Option ID = 2226]
3. 30

[Option ID = 2227]
4. 10,20 &30

[Option ID = 2228]
Correct Answer :-
¢ 10,20 &30

[Option ID = 2228]

18) Which are the allowances for running staff of Indian Raillways?
STTH T 7 & TR #2137, FI A4 99 ¢ 7

[Question ID = 558][Question Description = Q18_AEE_PB_NAIR25FEB]
1. Breach of Rest allowance / 5191 %7 379 =11

[Option ID = 2229]
2. Ghat allowance / =7= 95T

[Option ID = 2230]
3. Waiting duty allowance / 75 T=a 74 S=7

[Option ID = 2231]

4. Al given options are correct ! 7 mm fTFeT 747 8
[Option ID = 2232]

Correct Answer :-

* Al given options are correct / 7 = m fFseT 747 %

[Option ID = 2232]

19) From the functions given below, which is not the function of Railway
Recruitment Board?

7 T AT # T F AT A T TS A w2

[Question ID = 559][Question Description = Q19_AEE_PB_NAIR25FEB]
Assess the requirement of staff /

FHATAT ] ATTSTHAT FT SFHT FoAT

[Option ID = 2233]



To allot roll numbers to the candidates /

[Option ID = 2234]
To send call letters to candidates for written examination /

[Option ID = 2235]
Make necessary arrangement for conducting examination /

[Option ID = 2236]

Correct Answer :-

Assess the requirement of staff /

FHATAT ] ATGSTHAT FT SFHT FoAT

[Option ID = 2233]

20) In normal circumstances, in case of Group B’ service in Electrical
department of Indian Rallways ————— % of assessed vacancies are filled

by Limited Departmental Competitive Examination (LDCE).

ST AT ST v F T =T & aw o A F g §
e e T & 8 —— % Ty afea marha et r wiar s siram
gl

[Question ID = 560][Question Description = Q20_AEE_PB_NAIR25FEB]

1. 3p

[Option ID = 2237]
2. 50

[Option ID = 2238]
3. 70

[Option ID = 2239]
4. 80

[Option ID = 2240]
Correct Answer :-
® 30

[Option ID = 2237]

21) For [Tl qualified compassionate appointee engaged as Trainee Technician /
Artisan Grade — Ill, period of training, before regularization, 1s
maonths.

HTE T AE FAHIEE FqF0IT & F0GT7 T2 T80 AFm 1909 | Freme o — ||| &7
TR TF AT T T (AT (AR AR 5 Tge — Fain $f A1 A=y g g |
[Question ID = 561][Question Description = Q21_AEE_PB_NAIR25FEB]
1. 36

[Option ID = 2241]
2. 12

[Option ID = 2242]
3. 3

[Option ID = 2243]
4. g

[Option ID = 2244]

Correct Answer :-



L] ﬁ
[Option ID = 2244]

22) |n case of trade test for promotion of unskilled staff (Khalasi) to Semi-skilled
staff (Technician / Artisan Grade — lll), marks allotted for practical & oral
fests are ——- & —— respectively

AL BT (FATAT) FT AT FAA (T 119077/ Fwe e 9= — ||l) 7 9= i F
T 25 2= F AT A TTa=Fa A7 AT0as Tam F o] A2 SF FA

i —— |
[Question ID = 562][Question Description = Q22_AEE_PB_NAIR25FEB]
1. 50, 50

[Option ID = 2245]
2. 40,80

[Option ID = 2246]
3. 60,40

[Option ID = 2247]
4. 75,25

[Option ID = 2248]
Correct Answer :-
® 60,40

[Option ID = 2247]

23) The railway servant holding sensitive post should be transferred from
existing post after years

A T% 97 FUT 74 TR AT AT ATHRT T5 H —— T9 F q18 24790070
T s = TR |
[Question ID = 563][Question Description = Q23_AEE_PB_NAIR25FEB]
1. 2
[Option ID = 2249]
2, &3
[Option ID = 2250]
3. 4
[Option ID = 2251]
4. 5
[Option ID = 2252]

Correct Answer :-
* 4
[Option ID = 2251]

24) Railway servant transferred on own reguest from one unit of seniority to
another unit should be assigned seniority in the refevant grade on
the date of joining the new unit.

T A AT TS T T TS A S| SHIE A AT A 0 (0 T v HA AT A AT
THIE | ATHA g 0 (10 97 Fea 18T I H ———— F108a7 W51 S =1l & |

[Question ID = 564][Question Description = Q24_AEE_PB_NAIR25FEB]
1. Boftom/==9 S5 #71

[Option ID = 2253]
2. Top/siad#r

[Option ID = 2254]



3. Ofearlier unit / TIs=T =572 &7

[Option ID = 2255]
4. None of the given option is correct | B 7 a5 7 %1 7g7 720

Al

[Option ID = 2256]

Correct Answer :- Deleted

25) Ason 1/1/2024, as per Tth CPC, — % is the rate of House Rent Allowance
(HRA) for Y class cities / towns.

1/1/2024 =7 == =77 |7 97 =7 F ATATT ATE A F AT FEAT F AT AT
T ST A - %Zi

[Question ID = 565][Question Description = Q25_AEE_PB_NAIR25FEB]
1. B8

[Option ID = 2257]
2. 16

[Option ID = 2258]
3. 24

[Option ID = 2259]
4. Mone of the given option is correct / =7 7 e 5 5 #1 F2l 721 &

[Option ID = 2260]

Correct Answer :-
® None of the given option is correct / =7 77 (%7 # 5 &1 F2l 71 &

[Option ID = 2260]

26) In normal circumstances, railway employee is credited with days
leave on average pay (LAP) in a calendar year.
FTAT A=A § 7o FR A & TR s a0 A oAt o sitaT

A ST AT AT g |
[Question ID = 566][Question Description = Q26_AEE_PB_NAIR25FEB]
1.
10

[Option ID = 2261]
2. 15

[Option ID = 2262]
3. 2[]

[Option ID = 2263]
4. 30

[Option ID = 2264]

Correct Answer :-
® 30

[Option ID = 2264]

27)  For railway employeg, ————-— is not the interest bearing advance

o e

T ATAT FH TEE |

[Question ID = 567][Question Description = Q27_AEE_PB_NAIR25FEB]

1 Advance for purchase of computer /

T G = F T A

[Option ID = 2265]



Advance for purchase of conveyance /

[Option ID = 2266]
Advance for purchase of house (flat) /

FETT (FAZ) T (=T & [0 A
[Option ID = 2267]

Advance for travelling allowance for tour / transfer /
FTHT | ST F To0T AT 55 &7 S0

[Option ID = 2268]

Correct Answer :-

Advance for travelling allowance for tour / transfer /
]

ATAT | SATATT F (o0 AT A= FT ATTH

[Option ID = 2268]

28) \ith reference to Discipline & Appeal Rules, 15 not a major penalty

ST TF AT FEHT F A § ——— FE e 99 5 |

[Question ID = 568][Question Description = Q28_AEE_PB_NAIR25FEB]
1. Censure /=T

[Option ID = 2269]
2. Compulsery retirement / FEETE FaTHET

[Option ID = 2270]
3. Removal from service / Fa1 9 A==y

[Option ID = 2271]
4. Dismissal from service /=97 & SwETeAsT

[Option ID = 2272]

Correct Answer :-

®  Censure /=T

[Option ID = 2269]

29) A railway servant shall be deemed to have been placed under suspension
by an order of competent authority if he/she is detained in custody for a
period exceeding ——-—————— hours.

T T 7T FRAT R —— F2] 9 F19% FA9 A% (27197 9 780 77al g 747 34
TEH AEFT T F ST 5197 e iad e (54T 07 ST ST |

[Question ID = 569][Question Description = Q29_AEE_PB_NAIR25FEB]
1. 12

[Option ID = 2273]
2. 24

[Option ID = 2274]
3. 9

[Option ID = 2275]
4. 48

[Option ID = 2276]
Correct Answer :-
® 48

[Option ID = 2276]



30) For new Junior Engineer recruited through Railway Recruitment Board for
Electrical department of Indian Railways, months is the prescrbed
training period before his./ her service is reqularized.

AT 7 & (Al [ | 779 ] 7% GIe7 1 97 qg7 2a19d7 & =0

ey AT AR g T HE FT TS st i F

[Question ID = 570][Question Description = Q30_AEE_PB_NAIR25FEB]
1. &

[Option ID = 2277]
2. 12

[Option ID = 2278]
3. 24

[Option ID = 2279]
4. a8

[Option ID = 2280]

Correct Answer :-
®* 12

[Option ID = 2278]





